RE7TAN @t 3REHDIZ7 01

1.  ROBEZE vy BER LSRR X, 208, o UK, y YR, Mo « M2 .
(SH2 108, A3 208, Bissr, CH8%)

(1) y=2x3 (2) y=2—x

3) y=2%—-22 (4) y=a2°>—-3x+2
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2.  ROBEE vy BEVHE EICKRE L. Z20B, o YA, y YA, MED « EEZ Y.
(SHk34530%, A5, BT, C# 1047 )

(1) y=—x>+322-3x+1 (2) y=23—-3224+4

(3) y=—x>—6x% -9 (4) y=2>—22-92+9
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REFAN B 3REROIST 01 WREES

* 3 REBDITZ7
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2.  ROBEE vy BEVHE EICKRE L. Z20B, o YA, y YA, MED « EEZ Y.
(SHk34530%, A5, BT, C# 1047 )

(1) y=-2+322-3z+1 (2)  y=a*-32"+4
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(3) y=—x3 —6x% -9z (4) y=2>—22-92+9
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